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DTHEFES: L4
2) LREFTTEIRTT: M
3B LR KA z(m): 40
1 KA krfE (b 5 Wk = B gz*p S*p Z*w0
(% (CRHIEMATEAGEY GB 50009-2001  7.1.1-2)
1.1 FEAKE W0=400N/m"2
(3% (ML MATEMIEY GB 50009-2001 #lsE, K S0 F—# Kk, EA%H
/AT 0.3KN/mM”2)
1.2 B R EGH
DA EHIX: B gz=0.92*%(1+2p 1)
Her: p £=0.5%354(1.8%(-0.04))*(2/10)7(-0.12),z 4 %35 s ;
2)B FMi[X: B gz=0.89*(1+2p f)
Horpr: p £=0.5%35°(1.8*(0)*(2/10)M-0.16),z %2 i [ »
3)C FEHL[X: B gz=0.85%(1+2u f)
Horpr: p £=0.5%35(1.8*(0.06))*(2/10)7(-0.22),z A %4 L »
HD HKHX: B gz=0.80*(1+2p f)
Hr: p £=0.5%354(1.8%(0.14))*(z/10)M(-0.30),2 4 235
A TR CH AHEEFREA T XY
Bgz=0.85%(1+(0.734*(50/10)"(-0.22))*2)
=1.72573
(% CRIEEMAEMTE) GB 50009-2001  7.5.1 ME)
1.3 MIEmEAE R z
DA ZEHIIX: g Z=1.379 * (z/ 10) » 0.24,2 Ky ¥ L
2)B MK : p Z=(z/ 10)~ 0.32,z h & de i i
3)C HHX: p Z=0.616 * (z/ 10) ~ 0.44,7 1y 245 5 1%
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4D FHh[X: p Z2=0.318 * (z/ 10) 0.6,z K &ZH 55,
ALREG: CK S AR X IUE .
uZ=0.616*(50/10)"0.44
=1.25063
(3% (L5 MATEMTEY GB 50009-2001  7.2.1 FiliE)
L4 A farg a8 /Ay s=1
(P (RIS MIMTEED) GB 50009-2001 % 7.3.1 i)
1.5 M Bebr el v 5
Wk(N/m"2)=pgz*uS*uZ*wl
=1.72573*1.25063%*1*400
=863.3
2 M HE T
W(N/m2)=1.4*Wk
=1.4%863.3
=1208.62
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DR, FAEEEK: fmax/L<=1/130

)M A RS, RPEEEIK: fmax/L<=1/180

3RS, WIPEEENK: fmax/L<=1/160

Horpre fmax: A %2 J A8 AE 2 B B (mm)

L: 24 52 3RS FE (mm)
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omax=M/W<=[o]

[o TAPEHRHUES it 1Y ) (N/mmA2)
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